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1. "because" CH &1 0ll "as"Lt "since" E AIZ0IAI 2.

2 1) because, as, since E 4 A

Many children are impatient because they are spoilt by their parents = 6.0

Many children are impatient as / since they are spoilt by their parents = 7.0
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e Many people today are overweight due to poor diet. = natural
e Many people today are overweight due to relying too much on fast food. = unnatural

e Many people today are overweight as they rely too much on fast food. = natural
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e The price of housing has risen considerably over the last twenty years. This means
that many young people can’t afford to get on the property ladder. = two simple

sentences = 6.0
e The price of housing has risen considerably over the last twenty years, which means

that many young people can’t afford to get on the property ladder. = one complex

sentence =7.0
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e When people are given too much choice, they tend to become overwhelmed and find it
difficult to settle on one particular option without feeling a sense of regret or worry.

This can mean that people defer making a choice, or never feel satisfied with their end

choice.
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In this essay, | will examine the causes of global warming and then examine its effects.

=6.0
e In this essay, | will examine the causes of global warming before examining its effects.

=7.0
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e For example, the pollution levels in China are so high that in some cities it is

impossible to walk outside without wearing a mask. = 6.0

e Take China for example. The pollution levels are so high, that in some cities, it is

impossible to walk outside without wearing a mask = 7.0

e Take China for example, where in some cities the pollution levels are so high that it is
impossible to walk outside without wearing a mask = 7.0+
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e | believe that social media can only be seen as a negative influence on society. = 6.0
e | believe that, ultimately, social media can only be seen as a negative influence on

society. = 7.0

ATHELZ 001 = Xt
scorefactory.io



